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2N YO
Hu: ARAN(USH)
Sl RIAZA Y BM=X AW (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
12 JIEtE2 A= 2,700 2,700 0
OFQI XX XOHZEHE WEs a2 2,700,000 2,700
405 XHoHFE S HI 4,593 0 4,593
01 XA 2B F S| 4,593 0 4,593
OF0XXMEH HELHSG XHSE 2
990,000& 990
OF0XXHEH AtSE 2 513,000 513
OFoXXNHMEH HCOLEZXMEH A 2
3,090,000& 3,090
ScletdEs A 131,510 121,950 9,560
301 et M= 131,510 121,950 9,560
05 S& -01& -BtEEsEAZ 131,510 121,950 9,560
OO0l 126,360
Jlgsg 300,000& = 27 * 12&8 97,200
= 300,000& = 279H * 23| 16,200
-3 ol E A
20,000 = 279¥H * 23| = 12&€ 12,960
Ot A= 50,000 * 103¥ = 13 5,150
INE=3=1= RN NEC] 11,040 11,040 0
301 et A =2 11,040 11,040 0
04 AsHHMHAH XS 11,040 11,040 0
O 0FA HI 4,000& * 44 = 1JHOH = 3652 5,840
Os% & ety 100,000 = 1JHCH = 12&€ 1,200
Ox&Ex Xyl 4,000,000 * 1JHCH 4,000
ZZANE gxzel 294,565 290,507 4,058
101 e1214| 55,965 51,150 4,815
04 JIZtHIZ22XNSE S 55,965 51,150 4,815
OAIMXEH & S3A&E22 o2 21,963
-= 45 800& * 29 x 272 x 8& 19,786
-AISIEE J|a8e=2 19,786,000& * 11% 2,177
OFALRZ o 34,002
-=20 1,914,440 * 2%  8& 30,632
-AI3IEBE J|2a8e=2 30,632,000& * 11% 3,370
201 LBt | 169,074 163,717 5,357
01 AP 22| d| 17,916 19,116 A 1,200
O&EI|tE e a2 (HA L SHAM)
180,000 = 2o & = 123] 4,320
OAdtotdae a2 (HA & SHA)
160,000 = 2o & = 123 3,840
Ot £42 (A & s24)
200,000 * 23] * 2004 800
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Ha: ol AH(US)
C: QASA Y FHER X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3sx #FA 400,000& * 13 400
Ost& 4 diol xt 20,0003 = 6CH » 123 1,440
Oobts sl& ¢ Z22Y ei=21 8 #¢
10,0003 * 30004 * 43 1,200
OAMAZE RX2E A28 28 7
1,500,000 1,500
ool BIIHE) AR
56,0003 = 304 » 123 2,016
OEH3II HAl & === 600,000& * 43 2,400
02 2324l 151,158 144,601 6,557
Ozs&22= & HA 105,428
I 2 2RI (FA E 5FL)
3,700,000& * 122 44,400
-&83 2 FAX23 100,000& * 2JHA » 12&8 2,400
“WEdESES 283 4,500,000& = 12& 54,000
-HiaZAE &8IIR3 100,000& * 128 1,200
-Hlag=Al4d S 2l 1,000,000 1,000
—SINERES 100,000& * 2J4 & * 23] 400
-2t 2tel X &2l sl 50,000 * 23] 100
—RAES AEZ(FHAH 37,400 = 123 449
-FESES MEZ(FLUXXHEH)
13,2008 128 159
-AOIETV Ol EE(E& L) 45,0008 * 128 540
QI ASS(FUXXHE)
30,000& = 12& 360
-QIAel MEPC QIEHUA AIEE
30,000& = 12& 360
-HAXE GPSEL 2= 5,000& 1228 60
OAE ZHI S X 31,730
- HAL HE2SRXHI(1,903m) 4,000,000 4,000
~EEA ASKALI(1,177m) 2,000,000& 2,000
-H=E olFHOI 200,000& = 1CH 200
-0l Sl (HAH L EFL)
3,000,000& 3,000
-HAS2ZE 270,000& » 590 & 15,930
-AQEHASZE d)| X SRS
300,000& = 12JH& 3,600
-H&EH S JIE Al &I 3,000,000& 3,000
O Xt & | 6,200,000 6,200
ORI ZHIAIAZ(H HAH)  200,0008 » 128 2,400
ORZHIAAE(EEA) 270,000& = 123 3,240
OHI & & Al A& 55,000& * 202 * 128 1,320
OHAZSE H2EAX IS
70,000& = 12& 840
401 A& HI L ROl 40,000 75,640 35,640




SN WSS
Hu: ARAN(USH)
Sl RIAZA Y BM=X AW (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
01 A& HI 40,000 75,640 A 35,640
OXE FAHA EXSAM 20,000,000& 20,000
O&EAMN UR A28 BE=3A 20,000,000& 20,000
405 XHobF S HI 29,526 0 29,526
01 AL ESFH S 29,526 0 29,526
OZ& FAHA 7 7¢ 3,000,000& 3,000
O&ata dety ¢l 802,000& 802
OFA & &4 RUUSHAHI 7L
1,207,000 * 2CH 2,414
Ozglo8 2401013 AE ZHH 7¢
23,310,000 23,310
NAAMEHE A X2 1,800 1,800 0
201 2et24d] 1,800 1,800 0
01 At 22l 1,800 1,800 0
OXNGASE2EHEAME 2 &S ¢
20,000& = 159 « 63l 1,800
SHARZAGZEI (HWSH) 241,700 240,600 1,100
L2 ZMEFE 241,700 240,600 1,100
OldohZd ¥ A2 A 87,200 86,600 600
201 L4l 7,200 6,600 600
02 =224l 7,200 6,600 600
OEXOlE HEAAE(D-DAS) S Xl 22lbl
1,800,000& = 42 7| 7,200
401 A& HIZ 201 Y] 80,000 80,000 0
01 A& HI 65,000 65,000 0
O&E=2 & A& |RIE=H 50,000,000& 50,000
OARBAIE XNE S E&&9Hl 5,000,000& 5,000
Oz sHEEs M=&g 10,000, 000& 10,000
03 A2 S THHI 15,000 15,000 0
Otz % st&&Edl Edl dXt= 10,000,000 10,000
OM4AZEH Xtz 5,000,000& 5,000
22 ZHAMZ 4,500 4,000 500
206 M= Hl 2,500 2,000 500
01 M= 4l 2,500 2,000 500
OZZxd Mg ¢ 2,500,000 2,500
401 AIEHIZL 2 CHEI 2,000 2,000 0
03 Al S HHI 2,000 2,000 0
OZZx4d ZH Xz 2,000,000& 2,000
=2 E 00l &t 150,000 150,000 0
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S B G(SA) - NRANY - BES il 2
401 Al HIZ 201 Y| 150,000 96,800 53,200
01 A& HI 150,000 96,800 53,200
OUsH 6icl OIS BEXA XA
30,000,000& 30,000
OUSSHAUZA =HIY F2XYH XM
120,000, 000& 120,000
HYR2IZH (WSH) 171,270 152,049 19,221
Jl2Zd(esd) 171,270 152,049 19,221
Jl2zl 171,270 152,049 19,221
201 Let24d] 88,630 88,227 403
01 At 2teltl 64,644 59,696 4,948
Oga g (L=2Hl) 14,490,000& 14,490
Oget=gH| 9,820,000 9,820
O= &l 7,990,000 7,990
O=AI Xtz 154,000& * 3CH = 122 5,544
O&==J| gdXtz 40,000& * 6CH = 128 2,880
OHEHH 22F 2| 23,920
-ZodZeH 17,600
- EY 440,000& = 40 » 48 * 23| 14,080
cd 440,000 = 400 * 28] 3,520
-YotZely 200,000& = 11CH = 23] 4,400
—-FAX 120,000&  2CH = 33l 720
-H=&30I 600,000& = 208 = 13l 1,200
02 =224l 23,986 28,531 AN4,545
02223 ¢ MA(2ER23) 20,000,000& 20,000
OdHFZH KA =Hl 3,986
-GS AR D121 1,300,000 * 34CH * 5% 2,210
-Zeglg 4,000,000 = 1500 2% 1,200
—-FAX 600,000& = 2CH = 2% 24
-—SEUAL S 46,000& * 1CH = 128 552
202 O4Hl 70,200 49,140 21,060
02 HOHI 70,200 49,140 21,060
OEHNH 225,000& = 269 = 128 70,200
203 YR =&l 12,440 12,440 0
01 122 =4 6,600 6,600 0
ou¥ 550,000& * 123 6,600
02 R Jtatg =& 1,040 1,040 0
OFSE-- DN W RSESEENa] 40,0003 = 269 1,040
04 FN2ELRZ=TH| 4,800 4,800 0
ORNM2IYRFLH 400,000& = 12&€ 4,800




